- L el xxxw-.z‘l::; WL‘ \sﬁm (y
luMLSMEﬁw
Ukd & el inURpals  imnelring |
) Jat-x® @) &%+ x* (3) N x*=a%"
wht a o is ewland
Thow ane > wnes & w whlilll X ‘m}am@ %BM

G|
() X=zaswaw) ~ Jator = Ja(i-wasR) Tl e K = e
- v .‘
@) % zalam (W) ~o [a*+K* = (2t (1 Tentw) = J ot st masc(w
[t Gntu = et
3 = = ——
> AuC(W) mw (xta? =Var[ectun) L [a Gu <40

E_)sﬁﬂ&}‘ Typl) K=dma (w) dx= aws ) du
@) Ja-xzix 1 X vt
= — S Aunlw) dhk = &S 60‘-\ é.\«"ikj %.o\,S(n sw\&

a Yom (W)

n Ly) Y
B O\S;i-“éu tawudC = *QJM(CSC(,Q)&-U*(UQ) +amu +C
T Cse (w) ot
T TR T
Gen 27 sclw) = o= B, o#waﬁ.m_—_.hwu:‘lh%
s (wy = 57’:_)1:1 2 ok “ %
“) = VTR . a;x : =-@
Cundenes. . e —
st | WS ux o e ke (o Tand) + et 4 C
A X
®) S x . — = asct(uwy du o, S sec(w) ey
1"1/.’; ¥ :.*G\L * o
Ao+ x" Tyr(®) o lom (W) axe () & (w
X2 a G~ (W) - A L W dy
K= ancil) du Tt | wn
. _ = 0| o dw LT !
E_’g:* willk  wau ;,\Gwar\x, &;3———““ ?6&' (M:-)C
A s2C(w) = das & 8" Rrwmu

- N — =
quu):O/ml~m £ Yml =g l-Wtl = "‘“"I_\__;:\)z. B



'\nm: S dx ~_L K
atyx* o {ql+xk

‘l
)TC = a4 C

atx
(o check sun sytuliom ! K I‘ xl) 2 =X a'x -\-Q‘J‘l‘*x‘
A% x fatiye R TN
(37 T‘WB) “"‘34“&(«)‘3«'{.\)3 at x* 1% x¢ ’«‘i-x“
—x 1Y A wey lnwdy = SQ‘Q/\lQ. éu
| a e u
= Sq(secf‘uq)},w ___’_S LL) 544.44_: o'fG«uu- Al +C
) - \\Q‘:,
— X-*a.tm\ %)-&-C /q" (%>

W @‘m + s fa i (ZA@WXQL.‘

i
( lx Q dHuin ' sy KT ooy & Ton b < . S
A (AZ~)( ’

J& -
(Z) \‘5\4‘ % \X s alny A~y D s & 2 Saom = Ll .
L {avx it
: {x*-a?
() ﬁbﬁ_kzl "*i’i_—c\mm\ ‘ , wus pall
. | low w = W
\ &
[\mﬁwI«'ﬂ\\ W want . *\
g 4 gl @ dugylag g
¢ AR My tadk a.lwa*h Y-asis
& (40
A (xu) ¥l B o Gk B Yoo canne | g
29 = s =Ofa ~;«'~ s Spanals versakde, = datoxt dx
dx X
Mok o M-S = ke i =—~f:"-x"+«MQ.L__]XT—*‘)+\0-&Qf“\%»
o - o € ramfla (V) \t/'—

WYy =0

Eon [ = o b (s L) - T2 |




131

wv& P 3qpetg
I\&W\Jfa {MM‘MS o AX +hXC - $1, wd G
Wl X¥l B Lt T Jr(ui-q»mq!

Jax*+bx+c

Toeh . (x+A) = x*+2hr+h? ()"
IR TR & 1
=-(x-2)* +9.
= 9 -(x-2)*

Se'j "“'Z--‘é"=gx+z. ix—‘-'S-Sl“—.éu.
{Srax-pt TR
W= X~2

2 now X om wer Y cankion watid '-T‘a‘r‘ (1) 4o a=3.

Examili2 . SK_«LL. -z S‘F—f—-f;u)‘ = S ‘#E:_%m“k%_)?c

“42x+10 s

AC42X+10 = XF2x 1-\~\+|0=Q<H)‘+“i
- , utl éu
Exomdle . &x&x - S X dx. = j‘
-LR+ Usx=1 ™M (2) P a=2

LS
LlXAT o XE2X Al—1+S = B ) A9

S

- i _éi—— ; is 31,.Tw& (’L)

kX 4 . S dx = S_é,s__. , = S 3

' )t b L+ .
xt““)“\'s‘ m «e K~2 »_, o =D
FloqxyS = XE-IK ¥4-9%3 —(x-2)" ¥}
-d

é]‘ ~ l\k‘ = Y \X-z)fc

S E = -
2 T ==

- 3
fxt-gxt3) = - (xer +4-4 ¥3) =- &2 “1)=1(x)

: | 2, b x4C
T, pned o axtybx+C = al X *Ix*';:)

7 &40 — Lizb b 2

\ = 0\\& A +z&~:‘ "t({:) - ﬁ—“&i—-
= A\ (X v h +gc~&57')

Deputsiog m Hon] iy of 4 -ab?] e ¥ “qar

» W a Tan tf\“ Q_T) n L“_‘.') CM . =0, 0 N <O




